Consecutive Runs -

Requires fewer uprights. Total number of bays + 1 = Uprights Needed
(2 Bays = 3 Uprights)

Capacity is shared among uprights - overall capacity slightly lower
Must be ran in a straight line

Each shelf requires 2 beams
Manufacturer recommends at least 3 shelves

First shelf should be 36"-48" from the ground

Wire decking is typically placed over beams to create
shelf surface

Individual Runs -

Require more uprights. 2 Uprights per Unit/Bay
(2 Bays = 4 Uprights)

Capacity is non impacted

Allows greater flexibility for space



